BA

<OV NWR>
SL3/SL4 BF
TI-7°A MAS CHN =; bye B =1 B3z
10/27
MEGAT (MAS) 1500
10/27
ZHOU (VHN) 1000
= 10/27 10/27
=/ 1500 1000
bye
7M-7B CHN HKG MAS ik g% =l =t
10/27
GAO (CHN) 1000
10/27
KWAN (HKG) 1500
NURAIZAT (MAS)
10/27 10/27
ik 1000 1500
JI-7C 3 CHN MAS SIN B =1 JE 4L
i 10/27 10/27
RRIR 1500 1000
TAN(F[E)
10/27
CHAI(MAS) 1500
10/27
SIOW (SIN) 1000
SL4/SU5 X F
h-7°A CHN1 &Il CHN2 bye [ =l =t
YANG (CHNT1)
10/27
il 1100
10/27
SU(CHNZ2) 1100
bye
5 V-7'B CHN3 P CHN4 CHN5 i =l Bz
ZHANG (CHN3)
= 10/27 10/27
e 1100 1600
10/27
SUN(CHN4) 1100
10/27
CHENG (CHN5) 1600
<FTILA>
SL3/SL4/SU5 BF
CHN |{F#f%-=E| MASI MAS2 E%-@EJ R =1 [[=tivd
SUN/TAN(CHN)
e — s 10/27
Figk-=A 1130
MEGAT -NURAIZAT (MAS1) 1101/ 3207
10/27
CHAI-NAZMI(MAS2) 1130
i 10/27
RRIR- 1L 1130




